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39, fARfeTfil® gaTard FeUTintelod FuPisio fAdy 3fd: 23y ade

l’y?)

° Watch Video Solution

40. fAfallle ¢Arae SRR FgPEiEoe! Ady 3

(z —9)° (z +y)°

° Watch Video Solution

41. M a: b 9R c: d 93 TG 7B 91T REqogdt =5 ot

P, B[ 1A T8 AAOBAT Bl 716 B B ferfdl]

° Watch Video Solution



https://dl.doubtnut.com/l/_Cq91jlrY28c1
https://dl.doubtnut.com/l/_ASKvPWtB3tZE
https://dl.doubtnut.com/l/_tjaua96nWkw8
https://dl.doubtnut.com/l/_Q6oFcWUq8mNq

42, o6 @fid TAAGT YTt iy 6 SiHd THIPHE 157 Bt
I 717 B Y|

o Watch Video Solution

43.2, 4, 5, r fFd FFIAAfO© B,  -99 FH @ DI

o Watch Video Solution

44. 61520 3 43 —a7 ATGTHIOGI AT IO QA FAE FAIHaanfe

STHIATG! 21 117 B ferfl]

o Watch Video Solution



https://dl.doubtnut.com/l/_Q6oFcWUq8mNq
https://dl.doubtnut.com/l/_cTNJ7mmeG62e
https://dl.doubtnut.com/l/_eGyNPFwLsbBB
https://dl.doubtnut.com/l/_UHtDmb14zUKr

45, 233057 QR 78 -97 SOTRI6C AP IO [EABI IAEA

ST s e STHToT *6 AT 3

o Watch Video Solution

46. p,q,rs-a7 OTHIDT (U@ Do [T II R@sEasfe

STIATO! 7@ AT B

o Watch Video Solution

47. a : b = C : d (],

(a® +b%): (a® — b*) = (ac+ bd): (ac — bd)

IR J,

o Watch Video Solution



https://dl.doubtnut.com/l/_jMYuTXbNe8yw
https://dl.doubtnut.com/l/_zRtiVnD1LiDy
https://dl.doubtnut.com/l/_x7MPxUHLmSIm

48. a : b = C : d FIGR MYt [,

(a2+ab—|—b2):(a2—ab—|—b2) = (02—|—cd—|—d2):(c2—cd—|—d2)

° Watch Video Solution

49, a : b = C : d FIGR MYt [,

Va?+ /b +d? = (pa+ qc): (pb + qd)

o Watch Video Solution

50. x : a =y : b =z : c ;A 9T IR G,

° Watch Video Solution



https://dl.doubtnut.com/l/_1PXERqyKzOIM
https://dl.doubtnut.com/l/_xDwewphMusFN
https://dl.doubtnut.com/l/_2kPxp8ZjiMy8

x3+y3+z3 _xyz

51.x:a=y:b=2z:c2d, g9 34 , =
xeamy zec ad + b+ ¢ abe

o Watch Video Solution

52.x:a=y:b=z:c5ﬁ,8¥l‘fcf$§1'(ﬂ,

(a® + b + &) (2® + y* + 2?) = (az + by + cz)’

o Watch Video Solution

53.a:b=c:d=e:f2@@ 999 I @, OO APIO

Ha — Tc — 13e
bb — 7d — 13f

o Watch Video Solution



https://dl.doubtnut.com/l/_0c9UrxXqWcf8
https://dl.doubtnut.com/l/_KalVfSlyMOYz
https://dl.doubtnut.com/l/_0cCScGQnSPBg

54, a : b = c : d = e : f 3@ 99 IA G,

(a®> + S + €2 (b* + d* + f*) = (ab+ cd + ef)’

° Watch Video Solution

2 2 2
ss.zrf‘wa:b=b:c§;r,mamasﬁ<czr,<“+b) _a+b

o Watch Video Solution

5. IM a : b = b : ¢ W, @ g9 IQ @,

1 1 1
a2b2c2( +§+—):a3+b3+c3

o Watch Video Solution



https://dl.doubtnut.com/l/_zaXfuhmvuWu5
https://dl.doubtnut.com/l/_7BKs6CV6UmjN
https://dl.doubtnut.com/l/_OsyiQiqDI82u

be(a + b+ ¢)®
57.zrfﬁa:b=b:c5§r,maa‘rcr$ficzr,ac(a +o) =1

(ab + bc + ca)®

° Watch Video Solution

58. a, b, ¢, d TES PG TE, g IF @,

(a® + 8 + &) (b® + & + d?) = (ab + be + cd)’

° Watch Video Solution

5. a, b, ¢, d TES PG T, g9 IF q,

(b- 0+ (c—a)*+ (b—d)* = (a - d)’

° Watch Video Solution



https://dl.doubtnut.com/l/_Pa3ZpdgkLwqV
https://dl.doubtnut.com/l/_kaO31H9lyjdS
https://dl.doubtnut.com/l/_mfxYb5IhEJOY

60. UM % — % o, oW ORI T,

(m® +n?) (a® + b*) = (am + bn)?

° Watch Video Solution

= 2q, [VIG) MYt J,

° Watch Video Solution

6 — = - Y % oy o@ MR @,
Im — n? mn — [2 nl — m?2

lt +my+nz=20

o Watch Video Solution



https://dl.doubtnut.com/l/_B5VfrAEJEwI1
https://dl.doubtnut.com/l/_huCkyHqwz8dF
https://dl.doubtnut.com/l/_0EgCczYtt89c

63. LA — T B @
b+c—a c+a—2> a+b—c

(b—cz+(c—a)y+(a—bz=0

o Watch Video Solution

a—+ 2 x? — q? 4a
0T, M¥T? (T, Y =

i
64. —
y a—2 2 +y? o’ +4

o Watch Video Solution
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a+b T — 4a x — 4b

ferfar |

° Watch Video Solution



https://dl.doubtnut.com/l/_KRh6DlPTarhl
https://dl.doubtnut.com/l/_EYZad2jpqdN9
https://dl.doubtnut.com/l/_YqUXnofgEdsk
https://dl.doubtnut.com/l/_EGyaTavzeNEi

o Watch Video Solution
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67. @ _ = _° o, IR T,

g—r T-p p—g
a+b+c=0=pa+qgb+rc

o Watch Video Solution

b bxr —
68.aa:+y: €T

- bayﬂaawﬁmmﬁ%w@mxaammn

o Watch Video Solution

a+b c+d

69. I —
b+ c d+a

Y, O 9919 BT &, ¢ = a AT a+b+c+d

=0

o Watch Video Solution



https://dl.doubtnut.com/l/_EGyaTavzeNEi
https://dl.doubtnut.com/l/_7ZwLuAqyAZ3m
https://dl.doubtnut.com/l/_gF0762R0vyMs
https://dl.doubtnut.com/l/_FX6JVXUgBYW9
https://dl.doubtnut.com/l/_KVN5JMwmYPx0

700 wm - Y __Z

A, MR ,
b+ c c+a a+b
a B b B C
y+z—xz zH+r—y zx+y-—=z
° Watch Video Solution
T z
7. tY _ytE_ 2t m mR @
3a — b 3b—c¢ 3c —a
r+yt+z azt+by+ez
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o Watch Video Solution
72. z_I_Z2 T, ORI T,
a b C
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o Watch Video Solution



https://dl.doubtnut.com/l/_KVN5JMwmYPx0
https://dl.doubtnut.com/l/_awxSGEWyauAb
https://dl.doubtnut.com/l/_fIUMlGr7IF43
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Tt y_ 22 y?ﬂ,m(ﬁﬂh(ﬂz

73.3m —
3u + 4v 3u — 4v Y

° Watch Video Solution

74. (a+b+c+d) : (a+b-c-d)=(a-b+c-d) : (a-b-c+d) e, g4 BT T, a :

b=c:d

° Watch Video Solution

2 2 2
75. « _ v 4
b+ c c+a a-+b
1 1 1
1 1 —1

1+a 1+0 1+e¢

SR

@,

o Watch Video Solution



https://dl.doubtnut.com/l/_zqAAPfB22SDl
https://dl.doubtnut.com/l/_GcazIkgjNjVh
https://dl.doubtnut.com/l/_4x6pFCsKxoMZ

76. 2%:(by+c2) = y*:(cz+ax) = 2%:(ax + by) =1 A,

b
I @, —— + < -
a+z b+y c+z

° Watch Video Solution

x Y z
77. = = adR
xa + yb + zc ya + zb + xc za + xb + yc

1
T+ y+ z # 020, R J, Ello‘ﬁ::)‘@q% P Q3 A |
a c

o Watch Video Solution
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78. ay _Y e Y oret, a1 B @, (a+b-+c)

(x+y+z) = ax+tby+cz

o Watch Video Solution



https://dl.doubtnut.com/l/_F5HxrnHymaHw
https://dl.doubtnut.com/l/_sdybbmqGHFdD
https://dl.doubtnut.com/l/_V1GrCQZqzZKz

a b c
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Y+ z z+ T xT+y
a(b—c) blc—a) cla—1D)

2 2 2
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y? — 22 22 — x2 x

aard BT @,

o Watch Video Solution
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JifSIB SO 1: 1

o Watch Video Solution

81. \I6g QOB o7 At fFdT Al 123y, 22y? 9 zy® TP

STIATO!

o Watch Video Solution



https://dl.doubtnut.com/l/_4OKuTDNCbhk8
https://dl.doubtnut.com/l/_uEKXKyMWD0Pt
https://dl.doubtnut.com/l/_qyF6fKqSG8QK

82. oA Tfud MO YAl MYUTT BABA 64 A, BIIA

TIPS

° Watch Video Solution

83.a:2=b:5=c:82(c1a-9950% =b -9920% =c-99 %

° Watch Video Solution

84.(z + 2) 9R (z — 3) a7 TIT THAIPAOT 2 2@, z -9T FF

° Watch Video Solution

gs. 0 b _c 203+l o aramfifa
2 3 4 p

o Watch Video Solution



https://dl.doubtnut.com/l/_duawSvR7RPHd
https://dl.doubtnut.com/l/_UTLWyQofPvC3
https://dl.doubtnut.com/l/_XYQRnRQVAOKV
https://dl.doubtnut.com/l/_kcVRi3nA6nBK

i w,u A3 g7 fAfg a1
3x? + by?

6. ——— = —
3z + 9y 2

o Watch Video Solution

87.a:b=3:498 x:y=5:772,(3ax-by): (4by-7ax) PO

AT 3 |

o Watch Video Solution

88.x, 12, y, 27 BIAPD TAYHTOT (A x 3 y -9 IATAID FIA AT BT |

° Watch Video Solution
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https://dl.doubtnut.com/l/_kcVRi3nA6nBK
https://dl.doubtnut.com/l/_YV0kdQBcUGoI
https://dl.doubtnut.com/l/_Mzl2c24b0bqQ
https://dl.doubtnut.com/l/_Zv0YK3Pb5pDk
https://dl.doubtnut.com/l/_spvpusHjjeu3

A.8

B.10

C.12

D. 24

Answer: A

° Watch Video Solution

90. 8 43R 12 -9 POIY NFIHATGT
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B.16
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D. 20


https://dl.doubtnut.com/l/_spvpusHjjeu3
https://dl.doubtnut.com/l/_CQzw0QXGsKcK

Answer: C

° Watch Video Solution

91.16 43R 25 -47 JLT Aol

A.400
B. 100
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D. 40

Answer: C

° Watch Video Solution
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https://dl.doubtnut.com/l/_CQzw0QXGsKcK
https://dl.doubtnut.com/l/_OVts0ZkOUAJs
https://dl.doubtnut.com/l/_ZxckuCKDTIEb
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" 256

B.9

Answer: C

° Watch Video Solution
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https://dl.doubtnut.com/l/_3d7GaPUdBq71

Answer: D

o Watch Video Solution
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